EARAROBEEIERT — 2 N— IBISH —F

20165652680 (H) 3EIBR#H8H

=457 10007F ¥5%3M@E (BE) [EEl N>F (1wl w0 [iasml — |2 () oo nE
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N # 3 | ESEN 1:09.4 9-7 34.41103.1| 10 | 492 | B (ER)
111 | F—F>1= 53.0 - Cay | AR
R:FaTEN Bix—Kry b TR
N . SRR -09. — . i ARR— (FF)
5 ;| 7Lasa-x 44 I (1103?/47) 2-2 35.2 ] 99.8 | 1 (4_83 pa
L:F=TANNT N B84 hT—0L YA 7805
RS ; # 3 | M. FL-0O 1:09.7 3-3 35.1]99.7 | 2 502 | BEEE (ER)
3|5/10| Ly FZ794 53.0 (NF) (-6) |, ) REA-ZL-v>7
REATAT v — BATLY—vLY HET7— L
4 4 | EHEES 1:09.9 4-4 35.2| 97.7 | 6 460 | AILEA (ER)
40112 FTe7 55.0 ) (+6) SFEAR—LFT 12T 2 ()
R:TF IR BXHLTAT R
N FlBEX :09. - . . EZRF— (ER)
51816 Z)—T J1i 4 4 o 1(*709&‘)9 5-4 35.2| 97.7 | 3 ;1_5:52) s
LR T b F -G —K— K BiHAILL R TLT— HET7— L
S NS e 5 | HALGAF 1:10.0 13-13 | 34.7| 96.8 | 14 | 444 |FERE (ER)
N BEEL A SR i A 1) | IABE
RTIATLREA b B2 H I/ Fo—1)—X HREMFRELH /T 7— L
==\ 4t 6 | HLgREL 1:10.1 12-13 [ 34.8| 95.7 | 12 | 440 |EEHA (Eil)
717114 Y7710 V—=I 52.0 (3/4) (+4) (%) &<Ba%v-2
LA TxTv— B:TVUTL RO HET7—L
LS5 4 5 | BAKHE— 1:10.2 9-10 352|946 | 9 472 | BE (FR)
8|5|g| ¥EHZ TN 56.0 7€) o | B KHEH
x> dAq10—- BEvIFrE— HE%S
- QT t 8 | BREIEX 1:10.3 13-10 [ 35.0| 93.6 | 13 | 482 |FAKRE (E®)
o 11| Y71 XKNA ’ 54.0 (1/2) g | DR
RHIINTA— BiEvIIU-—> TR
N = 4 4 | C. x— 1:10.4 5-7 35.5( 926 | 5 460 | AHEE (RR)
10/8l15| V172 —=TF1 A 57.0 (3/4) © |HEEH
R:xA 25T B:X-UT =AREHS
NN # o5 | X2 1:10.5 16-16 | 34.8| 91.6 | 7 474 | BFIEZ (FR)
11)7[13] T2 = "NT Y 57.0 (172 Cay | ) s
L7V FFE2T71 BI-Y YA RE— ESiTie]
. s 8 > BERK : - RS (ER)
™ - RZESE S > 6| BB 1.(110).7 13-15 | 35.2 | 89.4 | 16 (4_9;8) Szl
R:T7TxXa%AL BTITRANT—F BHEAUS
S o5 | BBESE 1:10.7 5-7 35.9| 89.8 | 4 516 | BEIE# (3ER)
13 5| 7= F— 54.0 (4¥) (4a) | () REEK—-2757
RHIINIA— BT—HTF4TT Y=L le]
s g . . BEHF :10. - . . LR (ER)
14 3| TNFHTF T L 540 1(,1\%7 " %21 90.01 8 (ifﬁ) FhE
LY LS4 N—b B:4-—Fao> RiEHS
s BERER : = e RB= (EX)
15 6| ¥ x> b=k i 3 e (13.111/.233 9-10 [36.2] 84.0 | 11 ;1_786) ot
LA TAT v — BILALISF HRXEHE /-
N MEZE= : — TEBX (EX)
16 4| VTN 4 —F 2 i 5 Yl (12.111/.27) 5-6 37.0| 81.1 | 15 (4_6‘3 e
R:xA1=gr7—R B:5TL&2— SZvae]
@ 71 L
) 46.3-34.9
NA>ZA L | 12.2-10.9-11.4-11.4-11.3-12.2
® I —F—@EBIERL
|2=3F=
20—7—
Gol=5r= (¥3,7)10,2(4,5,15,16) (1,6,9)14(8,11,12)-13
40—+ — (x3,7)10(2,16)4(1,5,15) (6,11,9) (8,14)12,13
[ N3
B O 1 2,220 714K 1-7 1,530H e E 1-4 1,680M JEHE 1-7-10 6,880
8 B 1 540M 1-10 1,940 B = 1-7 4,790M B 1-7-10 59,120
7 160M 7-10 410 B H 1-7 11,130M
10 1804

ABICOVWTRDTEEERROODE. TR LIV,




